Enthymeme Evaluation
Issue Question:


What are the consequences of A on B?

Evaluation: 


Are the A and B terms clearly defined and specific?


Does the question appeal to everyone? Or, is the intended audience clear?


Who is the intended audience?

Claim:


A  Verb 1 (V1) B

Evaluation:


Are the A and B terms the same as in the issue question? 


Does the claim answer the issue question?


Is the verb active and transitive? Is the verb specific?


Is the claim initially unacceptable to the intended audience?

Because Clause:


A’ Verb 2 (V2) C

Evaluation:


Is the A’ term the same as, or an acceptable redefinition of the A term?


Is the C term sufficiently different from the B term? Is the C term specific?


Is the verb active and transitive? Is the verb specific?


Is the because clause reasonable, probable, or likely to the intended audience?

Implicit Assumption:


Whatever V2 C also V1 B.

Evaluation:


Is the implicit assumption immediately acceptable to the intended audience?

